
ENVELOPE SEALER PARTS model 720 & model 720-XL - available from Office Equipment Machine Shop. USA and Canada 877.336.6877 - sales@jhfinch.com  

 

 

SPARE PARTS LIST  for Envelope Sealing Machines MERCURE & Secap (all Models) 
         
Part No.    Description        

            

200    SPRINGS        

202    Separating Plate with Pressure Spring Mounting     

203    Tension Spring stainless for Transport Rollers or Motor Suspension    

205    Torsion Spring stainless for Flaps Feeding Bar on the Moistening Basin-Arm   

            
250    RUBBER and PLASTIC PARTS      

251    Conveyor Rubber Belt endless      
252    Separating Rubber with Slide Plastic Sheet     
253 b   Slide Plastic Sheet black to p/n 252      
253 c   Slide Plastic Sheet transparent to p/n 252      
254    Moistening Roller short with Shaft and square Tip     
254 C   Axis short to p/n 254       
254 D   Extention to moistening roller p/n 255!      
255    Moistening Roller Two-Piece long with Shaft and square Tip    
255 C   Axis long to p/n 255       
255 D   Extention to moistening roller p/n 254!      
256    Motor Belt        
257    Rubber Ring Broad for Transport Rollers      
258    Rubber Ring Narrow for Flaps Feeding Roller     
266    Damming plastic hose in the Basin Arm      
272    Suction Rubber pear for checking of the Water Level     

            
            
            
            
            



 

 

ENVELOPE SEALER PARTS model 720 & model 720-XL - available from Office Equipment Machine Shop. USA and Canada 877.336.6877 - sales@jhfinch.com  

 
            
Part No.    Description        
            
300    KNURLED-HEAD SCREWS – STAR HANDLES     

303    Knurled-head Screw M-5 x 18 mm for format slide or pile angle    
305    Knurled-head Nut M-5 for holdfast of Separating Rubber     
306    Knurled-head Nut M-6 for Receiver Box      
306 P   Knurled-head Nut M-6 for Moistening Adjustment     
311    Star-handle black with axis for bassin-axis      
311 J   Star-handle black with axis for bassin-axis (for model "Jupiter" only)    
325    Knurled-head Nut M-8 for Foot Screw behind     

            
350    ELETRICAL PARTS       

355 P   Tumbler Switch Black 250 V / 6 A, Diameter 16 mm     
355 PA   Tumbler Actuator Mounting without Switch Contact Element    
355 PB   Switch Contact Element alone 250 V / 6 A for Tumbler Actuator    
368    Fuse holder 115 V with Control-Lamp, SIL 5x20mm     
369    Fuse holder 230 V with Control-Lamp, SIL 5x20mm     

            
400    RHEOSTAT for Regulation of Motor/Conveyor Rubber Belt Speed    

421    Rheostat complete 220V (400 Ohm/60W/0.39A/50Hz)     
421 /115   Rheostat complete, 115VAC (115Ohm/60W/0.72A/60Hz)    
422    Rotary Knob with Clamp Pincers and cover cap     
423    Dial Scale 0 – 10       

            
500    MOTOR        

525 KE   Geared Motor 230 V, 4000 RPM, Worm Gear 22:1, complete without Pulley, New Type KE  
526 KE   Geared Motor 115 V, 4000 RPM, Worm Gear 22:1, complete without Pulley, New Type KE  
528    Motor-Pulley, Diameter 55/10 mm with Screw M 5x8 mm inside hexagon 2.5 mm   
531    Motor Carbon Brush 5/6 mm with Spiral Spring     

            



 
ENVELOPE SEALER PARTS model 720 & model 720-XL - available from Office Equipment Machine Shop. USA and Canada 877.336.6877 - sales@jhfinch.com 
  

 

            
Part No.    Description        
            
550    ROLLERS        

551    Flaps Feeding Roller fixed left complete with Axle M-6     
552    Flaps Feeding Roller moblie right complete with Axle M-6    
555    Conveyor Roller complete with Shaft Diameter 6 mm     
573    Supporting Roller long (180mm) on Support, with screw M10 complete    
575    Supporting Roller short (148mm) on Support, with screw M10 complete    
591    Cylindrical Roller with Axle M-6 for Part No. 567     

            
600    MOISTENING SYSTEM       

604    Moistening Basin-Arm with short Moistening Roller and Shaft complete    
605    Moistening Basin-Arm with long Two-Piece Roller and Shaft complete    
609    Flaps Feeding Plate with 3 Screws for Moistening Basin-Arm    
610    Box Level with 3 Screws for Moistening Basin-Arm     
616    Transparent Water-Reservoir with Valve, Vacuum System    
623    Cover for Moistening Roller against centrifugal Water (stainless Steel)    
624 S   Support of Moistening Roller with 3 Screws     

            
650    PILE ANGLE and FORMAT SLIDER      

651    Support for Moistening Basin-Arm      
652    Pile Angle without Fixing (p/n 685)      
653    Format Slide Feeder complete      
653 J   Format Slide Feeder with adjustable Angle for model "JUPITER" only    
654    Fixing lever black for Format Slide Feeder (p/n 653 only)     
685    Fixing for Pile Angle (p/n 652/653/653J)      
686 A   Slide Bearing-Bush with Fixing Screw M5      

            
            
    For all other parts please contact ADDREX: sales@a drex.com Tol l Free: 800-89 9-4402  
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

d 



ENVELOPE SEALER PARTS model 720 & model 720-XL - available from Office Equipment Machine Shop. USA and Canada 877.336.6877 - sales@jhfinch.com  

 

 

 
 
 



 
ENVELOPE SEALER PARTS model 720 & model 720-XL - available from Office Equipment Machine Shop. USA and Canada 877.336.6877 - sales@jhfinch.com 
  

 

 
 

 
 
 
 



ENVELOPE SEALER PARTS model 720 & model 720-XL - available from Office Equipment Machine Shop. USA and Canada 877.336.6877 - sales@jhfinch.com  

 

 
 

 
 
 
 



 
ENVELOPE SEALER PARTS model 720 & model 720-XL - available from Office Equipment Machine Shop. USA and Canada 877.336.6877 - sales@jhfinch.com 
  

 

 

 
 
 
 



ENVELOPE SEALER PARTS model 720 & model 720-XL - available from Office Equipment Machine Shop. USA and Canada 877.336.6877 - sales@jhfinch.com  

 




